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CHINESE
2/3 UNIT (COMMON)

(60 Marks)

Time allowed — Two hours
(Plus 5 minutes reading time)

DIRECTIONS TO CANDIDATES

¢ Print Chinese—English/English—Chinese dictionaries may be used.

Section I—Core (40 marks)
¢ Attempt ALL questions.
® Answer each question in a SEPARATE Writing Booklet.

Section II—Options (20 marks)
¢ Attempt ONE option.
® Answer the option in a SEPARATE Writing Booklet.



SECTION I—CORE
(40 Marks)

QUESTION 1 Writing Skills (10 marks)

Use a SEPARATE Writing Booklet.

(a) Write about ONE of the following topics. Your answer should be written in CHINESE
characters and be 100—150 characters in length.

(1)

(i1)

(111)

(iv)

v)

(vi)

EITHER
Write a dialogue between two students who are discussing their HSC marks.
OR

You live in an Australian city or town. Write a letter describing your home town
in order to entice a Chinese friend to visit it.

OR
Describe your feelings and experiences on an occasion when you got lost.
OR

Write to one of your Chinese friends expressing your mixed feelings about the
Sydney 2000 Olympics.

OR
Write an account of one of your New Year shopping experiences.
OR

If you won $10 000 in a competition, what would you do with? Give reasons.



QUESTION 1 (Continued)

(b) Complete the following sentences in relation to the subheadings below in simplified or
full Chinese characters . Write your answers in a SEPARATE Writing Booklet.

(i) Going places and doing things

Simplified characters:

L e e, L o
2 e, =1 G AN e o

L e oot et e et aaeareeaaan T e o
2 e 0 G IR e, o

(i) Personal world

Simplified characters:

AR B e, T e °
2 B ettt o
Full characters:

L e Tl e, B e, 0



QUESTION 2 Reading Comprehension (20 marks)

Use a SEPARATE Writing Booklet.

(a)

Read the passage below, then answer the questions on the following page.

Simplified characters:

FEWI 2 BORANMERY AL — K - REARGF -~ WL - &S — A2
R e O K2z > = SAARF 4 - HiHEoN A - Jokox L
Al - AR N IR - AN HEBURANL AR > FTRAREF T —ERA -
HE o ARPRIREIAG A BT - AR BRI WL S —E
PrUA AR - 2 L 261 o {0 FRARPLTRE R AR 1 -
N 28 AT BARSIM L B 2 - G WAR 22 A IEAE g i

BAEREARCE R ZAE T XX ERSRANE 752 - RIE
RBEAEZRE » &R RIFHYNHGE > A1) AR B Uk 5 R R AN
RUmE > AT T EZFAMK - Al > & KRR KB - PR
AR ZSARAR S > 28 SRR -

H1¥T © chiahan to sweat, to perspire

Full characters:

BB ERAF R A —K - KSRARAF » IR - T —EE £
HRE S E BTy Rz ERMIER A o EREE/SH o BARER L
AT AR NERRER » 73 HIGERRRE 2K i DARRERE T — R o
TS RIREREVS A S T - B - e PRI —HIT

FTLAA B3, i — & SR & i o (H BRI ATE T /REE 1
sy 0 E BT FAL BB KT - BB WAR 2 A ILAE iy
vk e

HAEREASCEKIF 2T T SHEMPRERNE THF% o WAL
RPEAE RIS » ZRKRIFHIRE B - AFI] DUE I UK - ERRAT
HIREEE - AP PTSE G A o AN - L RWAFE R A - SRR
HIRZEHARES - 2R AARATAE:

Hi¥ @ chithan to sweat, to perspire

Marks

12



QUESTION 2 (Continued)

(1)

(i1)

(111)

From the passage, find the single characters or phrases for:
1 justarrived;

2 getting off the aeroplane;

3 to swim in the sea.

From the passage, find the characters or expressions that have much the same
meaning as the following:

Simplified characters: Full characters:
1 FIRE 1 AR
2 HEA 2 B’EA
3 fHZ 3 (HiE

Answer the following questions in ENGLISH.

1 (1) Whatis the first thing the writer noticed when she got off the plane?
(I)  How does she feel about it now?

2 How did the writer get to her accommodation the day she arrived in Australia?

3 What first made her realise that Sydney’s winter was not as cold as she
expected?

Question 2 continues on page 6



QUESTION 2 (Continued)

(b)

Read the dialogue below, then answer, in ENGLISH, the questions on the
following page.

Simplified characters:

JNAE

W QHAH > R4 KT AR AT IN i 2

TP RS T - AR TAT 4

T HRER AR T WORAC ERE > URAL - 8
IEARFIER 2k - ARYE 1 -

S ] o FAf R TR BE 25 B SRA R 1 - AN I AR 48
KK ?

BRESFHE L Z MG KT - A0/ Al -k
AR AR W ST o 1 AT AR -

U RIS R TR AR - AT RS R T T
BE- - B

AR ARV - ARZ S KA T 2

PRV AN EF A C IS - AR A T RE
WA o IXFEIPAGE ? B LR > KA AR — T
Jr K -

ey
> 2R

el bang to help
Pk tido to choose
L% xidndé appear to be, seem to be

E#F shencdi body shape

Marks

8



QUESTION 2 (Continued)

Full characters:

JINEE
/NH

JINEE

/NH

JINEE

/NH

JINEE

/NH

I A - RAR R A RS 2
BT F Wi DUE R T o R

BB EEE T TREECERE - RS RIT  A
SRR o BT o

P o BT I AL L BT IR T o R - /G e
B R TR ?

BES FE LT % B ERT - Al - BIRN &
MBI RS o T ELEEE AR o

B B SEERTREEAS  TRSHASERTRT
RE - - - JEEESE 2

I RSB TSR T ?

BoRst - GRIRERE TS o RE e B A G
I o BEIFRIT ? SRR AR - B WE—F &
ATHEL o

E=a)

= bang to help

Bk tiao to choose

YA1S  xidndé appear to be, seem to be
EH#  shéncai body shape

(1) What does Xiao Hua want her elder sister to help her with?

(i1)) What is Xiao Yue’s opinion of the item Xiao Hua wants to buy?

(iii)) What does the elder sister finally suggest?



QUESTION 3 Language Study (10 marks)

Use a SEPARATE Writing Booklet.

(a) Dictionary skills
Write the radical of each of the following characters.
i 18/
i) /R
(i) ¥/
(v) &/ &

(b) Transliterate the following sentences into Hanyu Pinyin.
Simplified characters:
() B BIA/NREEAE LG TR -
(i) EIH TR RBITIAE - F I A3
Full characters:
() MENAANUEESEILERER -
(i) EATHATEERIZIEN L » B —X o
(c) Transcribe the following sentences into Chinese characters. You may use full or simplified
characters, or a mixture of both.
(i) Mingtian shi wo ji¢jie de shéngri. WO xidng g€i ta mai yi ge liwu.

(i) Xido Wang ai dd giu, y€ ai kan Zhonggué dianying.



QUESTION 3 (Continued)

(d) Match the four-character phrases listed below with the meanings given.

() R — R (A)
(i) KA KELH (B)
aiy BIFAX/BIEE% (©)
Gv) HH—®/BH—% (D)
v) T¥HE/ Ty (E)
vi) JIKT AL (F)
(vii)y F BT TR (G)
(vii) PO NG VO A 5 (H)

at home wherever you are

a little knowledge is a dangerous thing
vast distances

all is now revealed

let a hundred flowers bloom

untold hardships

a completely new perspective

to reap what you sow

(e) Rearrange the following jumbled phrases into correct, logical sentences. Write your

answers in your Writing Booklet.

Simplified characters:
() DESIRAT KSR
(i) BN TR TRl 3, W,
Full characters:

() /INE/IBAE/TKE /B
(i) =&/ & T/ 3/ R
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SECTION II—OPTIONS

Attempt ONE option.

Each option is worth 20 marks.

Answers may be written in EITHER English OR Chinese, unless otherwise stated.

OPTION 1—CHINESE FOR COMMERCIAL PURPOSES

Attempt BOTH Questions 4 and 5.
Answer this option in a SEPARATE Writing Booklet.

QUESTION 4 (12 marks)

Attempt BOTH (a) and (b).

(a)

Read the dialogue below, then answer the questions that follow.

Simplified characters:

I
A

I
A
I

A

EIE s AMTTREA R A SRS BT 2

AT o BTN FUE TARZ TR AR - P RA 15 AT
RAMARNE 1 -

RGP AT AT

X BRI « BT > AlERXAN H S A TR 1 -
HREFIE = Al > AWEAESFHT E “NH A H BT
Te7 o AT 2 XA > FA AT AN AT S HTIE -

Uf o XA T o BB ST SRR AR -

Full characters:

PRAGEE
v e i

PRAGEE
R wea
PRAGEE

EAE

(i)
(i)
(iii)

TSR IRMEE T RER A TEHI LR 7

AT o BT — T TS TR ZHETE - fURR o FARIRMenl
AR T o

AAE N H FA T e

¥ MBS o AUE RS - RUEE N B BB AEMICR T
AAFIE o AN - REFEEEEREE L "N H I E B
B AT ERR - BRI LA HWIBE 5 AR ©

I BUEROE T o B IE I RS o

What was Mr Lin’s request?
What was Mr Wang’s reply? Why?

What was the condition Mr Lin imposed on the agreement? Why did he
make this condition?
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QUESTION 4 (Continued)

(b) Read the advertisement below, then answer the questions that follow.

Simplified characters:

SRl £ ]

REEFAWNE AT ~ A B T o B BRAETL 0 5 A - Sl
BB R Ah - AR) I S R IR o — B TR AR NMMX
Tt Wi =HEE s el AN FEIHRE o ) RAEE L AR
B B MR b XK - T ELAR AR ADRHME R - R S R A DR
2 R ] 32 B R AN A Rl o — B AR RFE =100 - T A+
Bl NPT -

Full characters:

S )
REEH W FR e ~ FmEEwN TR o SBMEAETLPE S o 5t
AR E A b - AR S BB 1 o —E TR R BE R
LATE - WMET =+BLUE - B AE N LT EE o Rt 1L A
Zoaw HA B 19ILT7 B+ T BT AR - o B g B R
FHETRPA R B SN E RO o —E TR RRTE =100 - ARTA+
BRH/UTER -

(i) Where are the factories located?

(i1)) What is it about the goods produced by the Tangshan branch factory
that makes them popular?

(iii)) What are the prices offered by the two factories?



12

QUESTION 5 (8 marks)

Attempt BOTH (a) and (b).

(a) Write a brief answer to EITHER part (i) OR part (ii).

EITHER
(i) Explain the following terms.
1 AR ER0 4 Hrdn 0
2 WRESYE 5 4 HS
3 JHE//FHE 6 bl FEfS
OR

(i1)) Name TWO Special Economic Zones in China.

(b) Answer ONE of the following in CHINESE characters in not less than 100 characters.

@

(i)

(iii)

EITHER

Write a letter to promote your T-shirt factory. Your letter should include the
following points:

the name of your factory and its production capability;

the location and how long you’ve been in business;

the number of workers and their skills;

your experience in the industry;

the names of some of your clients the details of their orders;
the source of your raw materials;

the name of your banker;

your ability to meet orders of any size.

OR

An international footwear company is planning to establish a factory in either
China or Australia. What advice would you give the company in terms of labour
and other costs for both countries?

OR

What are the advantages and disadvantages for China in joining the World Trade
Organisation?
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BLANK PAGE

Please turn over
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OPTION 2—TOURISM

Attempt BOTH Questions 6 and 7.
Answer this option in a SEPARATE Writing Booklet.

QUESTION 6 (10 marks)
Attempt BOTH (a) and (b).

(a) Read carefully the passage below, then answer, in ENGLISH, the questions on the
following page.

Simplified characters:

W AR/ N2

AR R AEZR SR PI R - o — D SEn B BRI H » fEaX M A
WE AT AT S AR/ N B RYFARHRTS > S0n] DUIRBOR BRI Lo oAb -

HF—ERNIAR I WREENE - —DET - —DMRITIEA
P o VT S8 KW o i1 FLIEA — D% N Tk -

EAERM/AA S - 3K iF A u] DUR SIS RER) 6 5 » 3d n IR IR
PREIAL B« W b T A B R B SE i L A

M BAJEIT /N
gk - HOJC— M
WITHE © (02) 47128456
POTIE = A H Al

Full characters:

B AR/ AR

BRI BAEARSE PE RIS » & — SRR R - AEE e A
FER] LA BN A BMESRAS - SCRT DURE KRR R 2R HER BT ©

M NREEICERERNE » — 5 e ~ — a0 A — e
P5 o VRTINS o 1 HisH — = W ki o

AR NAREM - HRIE AT UE SIS ERIIRG - E A LIE2IEE
PSR - B b ] ISR W R se i A o

Hi B B JE BB /N Ry
fE5% 11070 —H
THETRESG @ (02) 47123456
THRTRERT ¢ —fW H 2 hf
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QUESTION 6 (Continued)
(i) How many rooms does each cabin have? Name the rooms.
(i1)) What attractions does the advertisement highlight?
(i11) How far ahead do you have to book?
(iv) Would Sydneysiders consider this place suitable for weekend trips
(ie Friday night to Sunday afternoon)? Why/why not?
(b) Answer the following question in ENGLISH in not less than 100 words.
Write a letter to an Australian travel agent setting out the advantages to them of employing
you, as a Chinese-speaking Australian, to lead tours to China. Propose TWO special

interest tours, giving the approximate length of the trips, the cities/regions to be visited,
and the type of accommodation required.

QUESTION 7 (10 marks)
Your answer MUST be written in CHINESE in not less than 50 characters.

The Australian Tourist Commission coined the slogan ‘Australia 2000—Fun and Games’
(BB TAE—— (K IR 5353/ B T —— PR SR to encourage interna-
tional visitors to disperse beyond the major destinations in Australia. Write a brochure on this
theme for prospective Chinese tourists.

Please turn over
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OPTION 3—LITERATURE

Attempt BOTH Questions 8 and 9.
Answer this option in a SEPARATE Writing Booklet.

QUESTION 8 (10 marks)

Read the passage below, then answer the questions on page 19.

Simplified characters:

JEAN -

FM -
FM -

FM -
FM -

FM -
FM -

JEAN -

A WAE T (HEN - HEWWE )

Wl A Aol 2 253 O RG> Y 41 3R A AR A - BLIA TH R AR & ok
I HEHR A - BLA TLAE I H el A gt ok

IHAef 4K 2

PR R AAE AR T AR B > il A< > WA -

LA ARA G — S T 1 2

TR —1F 2

AN —1F > TELMEE LA DMRENERE > G248 N —%kil
oAb B 2 38— —
(i) Hgfe 2
FURGH—NHF -
WRERSAR) M R > AR AR
T MFT R AT A

s BRI 2
GED) o AL TR T |

V) AR AR R R LK T -

SR VAR - RV - B LR AR I T o 4 KR F
LK » 3 T BEIRAEIR L SR LA -

PRTT L H A o BIZE AR IR EA T LI - RS0 1 B -
3 KA+ A TG TT DA AL S SEIFIRA) -

e AR IR T T WA EM > BARRR > 2 2=
R REACZH S - RRME ST DM 7 0 =H4FEar >
R EFRAE N ARME AL A =K AR 1B RIS AT
ATVHRNE > 8 EREERS L - BRETNEZRAT -
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QUESTION 8 (Continued)

JEAN -

JEAN -

JEAN -

JEAN -

JEAN -

JEAN -

MATRITHRZS > 33 7 JLFAF - SULb AR e 2
APy R DA — WL XU - BEAE &4k 2 Erer A9 - alJg B M
AR TZGE R LA TG FRBEASEI > ALK BR 4 =0E 1 Fok
A B 1% 5 VRAT 1 58 BLIE 45 B EIRATI 52 L
PRIYER “ AN TARAREEHE T 4 2
HOEARAE R AKF HEHTPIE T > AMIEiEn - (A B K
W - FBEAT IR GAEMMES -
WAL LR F AL I -
B - REPR  ) F =TT VARG TS iR T RN
X 2T IAEIR T 5 WERIIETR B C 1% 7 fn 2280 2] 25K Ui
M BTAERAT T2 A =
PEAIFI RUXFEZRAR -
HAFEAR - KA T AR AR D ST o X ZH AR - AR
R -
PR — T o RN RS R A o AR DL N AL SE T RN —
MM T DA ER2TE T 4 2 RE XL HA AR AT
KRG - ZFEREIEE I - NELSIR -
(k) -
WHAE H——DH + AN——8FKEILG « — VIR ER S B K
SRR NE » LETURENEREIL - 2 TiH - BEERE - x4 ]
AR 25 - AWEATAR - RN R RIS -

W R

Question 8 continues on page 18
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QUESTION 8 (Continued)

Full characters:

R

FIRER

B
PR
B
PR

R

TR
B
TR

B

PR
R
PR

R

FIRER

B
B
T

FIRER

R

IR

EE WRHEET Y (BEEE - REFH <)

BT PR NEEE 25 S5 R T R+ A A A R A T R B K= R
NE(EAEASAR T 2 R A g R o

Y

IR BA T IR T - AU IEE T -
BB E— T I ? SRS

S —1F 7

AIEE — M - A LA R B 1 T - BRI A A B — e
el by 2 A — 1 —
(151 ) #EE?

(PRERALED) W - K - {2
BOBEREHTFFRIBZERAT A o

AEFR{E IR 2

@) - AR TR EEA |

(H) =T ERRIR RS EE AR T -

(RE) B EHRM > EEHR B SIRFEIL T » 5 REH
R R S R BB R T AR o

K] DL il o BRI E B TR » IRIRES O ZH
FEEEREAT - BFI5e AT AL DR SRRFIRF Y o

o WHIRRERFERT T - WEHEH > WENZER > 2F - 2=+
F—R—REECOZWW R TR E T | =550 - @
AR R A ORISR T A =k IRy T B E RN #
HFEH/INE - IRTYEAREART L E - TR R E A o

PERIHE AR - ) TRAF - AL FElE ?

AR N 2 R A B — WL BRI » BRAE g4 & L9 A9 - RlE H i
BAARTISTERH LR - B EIEK - BBV ER AR T - FHl
A A 8 22 TR M SRR A AR 5 -

TR EE ZAE 22 TR e EARHLE T2 7
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QUESTION 8 (Continued)

B

FIRER

B

IR

R

FIRER

B

FIRER

ARSI AEAATE FETUIET » BURAGER o (E3#) W X
W R BRGNS -
BB LIS T LTI
R RER R TSHET AT BT - R
BT RATHIT © HATERE TR T MR BRI AR - X
ST SR O
B ARG
SRR IO T TR 00 f M o ERROWIE - RAOH
}/T/E?O
I — 7 © AT O R » (R B BUARE LITE T - bl —
T T — B LRI RL 7 I8 © (R e R B R T
BUTPRTS » 2 FRATRA » AT -
(EH) 1 -
74 A——A + A ——E ERATE o« — I E N R R
BRI - HER IR AERT - BT - BEWEP - Eeu
BAREE  BIORTR(T - WRRITEE -

B (H)

(a) How does Lu Shiping live on in the memory of Zhou Puyuan? In what way is she
present in his house?

(b) What does the passage tell us about the position of women in the society that is
represented by Zhou Puyuan?
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QUESTION 9 (10 marks)

Attempt EITHER part (a) (pages 20 to 21) OR part (b) (pages 22 to 25).

(a)

EITHER

Read the passage below, then answer the questions on page 21.

Simplified characters:

P R R - - -

ARAAIRE - ZBUHIEE « AR R 2 B RHE PG - T gt
ey 2 — -

J LA MR TR T TR S RELA A
BRI - AR RN - BT T B AR TR - BRI WAL T
SRIEIL » AR - AR LA

o RBEESRIE - R

T RRRREAR AR | A

= RARHAIRS S

M BERKRAKER - BEARORLA - - -

SEop A ARG ARG+ I AW 0SSR
23+ PURRRUCH B ST © RPN LI AT
KA S - PRI -

NPT TIVK S A RA - SERILR B I
L7 BN T

I > AT WBCE T < 30T AT 14  IRFFAETL - R
P UILILIE T S5 - AFA 0 » R REAHRAE S - 38 P 2 A
St 207 KA : REAA o KR LA B R - ]
AT » BFBMESE -~ ST T GORRIN - TR A P
WEHL(ESE - S0 PARATPE » AL RIAT ANE 2 AR ATRE |7 i
WOR N E A I N 0L 1

)

EH CEE)
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QUESTION 9 (Continued)

Full characters:
DB R A EREA - - - - -

fAENHES RS - Zaitd - EREF G LEREmE - Migue
fssiE L —

gt E R — AR TR A fe A5 SRR A - R E R A — - H
B - B - BB T Z2KE 0 A MR o BRI R T
SRS S, » Bl - B LU 0%

— - MSELS N ZEAK

o AMEREEERE - BRIER  E R DUEEEE

= KEREGIRS

o~ BHRBERANLE - SR aRARZ - - e -

Horb RS R— RN AR RS - BAESE) - S T
B - S KR I AL ¢ TRk T L LR T T B
L BRI e

NERAREE THRXE - R ERE - ERERH - "BE - (KU
) 7 BEIR R EE ¢ "B

e HE A WRHELT o SCTE A - SRS o AR
SCTHE RIS N —Fr 5% o P AI—F8 » BRI o 3CTM 0 TR
SATIEE? ” RIEMR - TRETL RS - KR U E B ERHS A - T
HoEHRER - FrLESR » 7 XTI T - WEREE o XTER - BE—&E
R AR OR o SOTARAEE - RIS aER - TR P IROGRERE T g
R - BRIARE T SR AR E R R g R A T

2=H (RE)

(1) Is Mr Huang a good ‘adviser’ or a bad one? Give reasons to justify your opinion.

(ii)) Why does Mr Huang convey his message by means of stories?

OR

Question 9 continues on page 22
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QUESTION 9 (Continued)

(b)

Read the passage below, then answer the questions on page 25.

Simplified characters:

x5k - A rAEMA - ReES—RIIAR 2 S— ST
oo [Rp

AP LN 54 % ANHRZR PG > $REH 07 o ] 20 WL IX 4 58 S — 0 - A
ST KRR BIFEAIFHCR » SRP K T -

EHT | R -

R 2L S | BRI [T T e
i - |

YRR R T AL R - B -

BRI F A -

B | XU K WA ) -

BRI i Bk -

Mk | Y AR DR TR T - ARk
gk -

kA TR AL B TR 4 - |
EBARIO - TR AR -

A5 TR A O RAT T - WIS B+ uok 2 e o T
B TR

HE B IR T AN » B S ] ok -

E=

BTSRRI -

YR VAT IR - AP RS T - SR - AR
A ML B LG SUTFAN LS © S 7 B BRI i 4 B - 15 4T

TAED o TR !

AP AR BRI - (UL HIRC 2 > ARk - - EHuR
AT

CARBEVRBE VAR L BRI B A IR
B HR - DI B2R TR BRI T A -



QUESTION 9 (Continued)

23

ETED - 25 BRI B - R AT B A—— (37 Uk T

TIE AN - I P AT

TE . TEpE

WAL o AHEE BB B » 1 BT

AR - JEBATISA R B AR -

e e

E=SRATIEOEE T

EAGEMAE > | AR AR AR o

RSB R S N
| R -

ENZBN

AEWIHBITFEA PSS -

[ AER > "Ik !
EiLiam
ENZBN

AP YA B !

Wl (LA

Question 9 continues on page 24
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QUESTION 9 (Continued)

Full characters:
R S5t o BT ESMN > HE2F—BUOTNE2Id— &R T
e [ XRB!

b IETUE#G R NIBCRTE » $RET AL o T 2 b 7 B X iy — Ak » 7k
EHRRNEBGEHT » kbR T -

ST || BRI o

(VR —G R - ey | RPHRNMRRIE - [ —BH T - B Rmian i
ff o |

BB RIS T BRI AU -

KM -

360 | | T L T -

KT R BB -

[ ST - | S IR E AR E T R BUE— T+ SR
S8 -

(e - W - SR G % - BT R R ¢ |
KRR - TR EME -

KRR R » WIS 5B R AL T
R [

KPR T R - R 5 -

2 R

[ SRS — » —PIERAREIE o |

JSHESE AR - REHERSE TR FonilcE - RREILE
Tee sl 5 - DU DRI SOBME BREE o A7 7 5 - IRIATER L 258 - H T
TR - R

AP AEBREREER - S EATAER - WHRmE - —H RS
R e

[ Vochs Lok Ps | | ISl se Ao - —Hrtb—is © uha IR
B —HE > DUSE RS T K BRI T Aan
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QUESTION 9 (Continued)

FEERTHIA - IR B AR AT

RS o R ERME Bk o BONE A A———{ M+ 2R
Wz 25 AAE o KRB - LT

TE IREL

(@)

(i)

ARPEART BB IHR LD T AR o
[ 2 e —|
£k | LpyEEE o

[ET WA ? | ZRPHER /N o

[ A5 ] |
(e 1 | ZREEH o
(%51

AP HEEEREL FEE -
[ PEA » E—mEbAK !

[ !
ESZAN

WEIFA R EERE |
#EH (HEtd)

Discuss the master-servant relationship portrayed in this story, as it reflects the
broader social fabric of the times.

The servant does not behave in a straightforward way towards Mr Jodhpurs.
Why is this the case? Illustrate your answer with reference to the text.
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OPTION 4—FILM

Answer this option in a SEPARATE Writing Booklet.

QUESTION 10 (20 marks)

Attempt TWO of the following parts (a), (b), (c) and (d).

Answer the questions with reference to the film The Black Cannon Incident.

(a)

(b)

(©)

(d)

Discuss, using examples, of how lighting and colour are used to set off the characters
and to reflect the theme of the film.

Li Renzhong, Zhou Yuzhen and Feng Liangcai disagreed on whether to promote
Engineer Zhao Shuxin to an important interpreting position. With which of the
THREE leaders’ opinions do you agree? Justry your answer with close reference to the
film.

The closing scene of this film shows some children playing dominoes as a red sun rises.
Explain what this symbolises.

What conclusions can be drawn from this film on the position of intellectuals in Chinese
society and the difficulties they faced at that time?

End of paper
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